S-652 Roll No. ..o,

M. Com.-07

International Business

(RIS @raTy)
Master of Commerce (M. Com.—10/16)

Second Year, Examination, 2018

Time : 3 Hours Max. Marks : 80

Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.

1T I8 YT UF ! (80) 3(dI BT & Wl A (03) WS
‘@, [ qr v H fanfog g1 Remial @1 =
guel ¥ fay MU R Feel & o aR & WAl @
ST o B
Section-A / GUls—d

(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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A @rs P H AR (04) < I wE 7
TAe Y @ fov SEN (19) sie fFuiRa g
iRl &1 ST § ®ad a1 (02) Tl & ST o
gl

1. Define the concept of international business.

Differentiate between international business and
domestic business.

IR IaAT P JAURVT B IRAINT DI |

FRICIT FIAd T4 o] A H JR W
HIfTY |

2. What do you mean by balance of payment ?
Differentiate between balance of payment and balance
of trade.

YA e 9 3T T e § 2 A e
IR e 4 {1 gl # fmr g 2

3.  Write a detailed note on import and export procedure
that is followed in India.

IR H SUARY WM drell g den fata fohanfafer
BT U BIFTT |

4. Enumerate various theories of International Business.
Which theory do you rate best and why ?

ITRCE AN & A gl &1 auH Sifog |
g8 W Bl 91 RIgrd oY g8 q9sd & 3R aaf ?
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Section-B / Yrs—Yg
(Short Answer Type Questions) / (e ITRII Je)

Note : Section ‘B’ contains eight (08) short answer type

e

questions of eight (08) marks each. Learners are
required to answer four (04) questions only.

gre ‘@ # 36 (08) g I T A M E
A% YN @ forv e (08) s fwiRa €l
RIERidT & 37H § dadt IR (04) YAl & IR o
gl

What do you mean by Gloablisation ? How does
globalisation help any nation to grow ?

TR W MY R FHI & 2 dTAENY il g
@ IR H 5 PR WEEd § 7

Define the concept of transfer of technology. State
various methods of technological transfer.

JHIdT Fdr UrENfal SRR & JqEROT Bl
RIS BIfTT | Tenfira! gxamaser & fafds yonferat
BT qUIF BIFTY |

State various methods of payment used in international
business.

ARG FFI H A & olg TN B WA dredl
faffg Jfcrat @1 9o P |

Define the concept of Specific Economic Zones.

fafire amfdfe e srauRem @1 uRwiid HIfTT |
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What are the functions of World Bank ?

faeq 9o @ fafaer @rat @1 avfa Fifv |

Explain organizational structure regarding export trade
in India.

IRA § BRIT (437d AR & for Feards ofd &
qui BT |

“Regulatory Framework of foreign trade in India helps
Indian Economy to grow.” Amplify this statement.

“URAT faEll @R @1 FRme [T 9RAN

ST B W H TS 2|7 39 B Bl WE

DI |

Explain the functioning of Multi-national Corporations.

U AT o) Bl @ e i)
Section—C / U1

(Objective Type Questions) / (@IS T)

Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this Section are compulsory.

gus T H g9 (10) TS WA A W 2| IS
T o forv ve (01) o FeiRa B 39 @ @
oo afard € |

Indicate whether the following statements are True or False :

3T DIV fob MfoRed @ 9 € 1 o
Exports pay for import. (True/False)
fraf amard &1 e R £ | (< / 319
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WTO was established in 1992. (True/False)
foreg IR TG @Y RATHT 1992 | TS | (T / 37)

MNCs and TNCs are one and the same.  (True/False)

TR T RIS 7 U &1 97 & |

(T / 9)
Devaluation of money currency leads to check in
import. (True/False)
Toe # TRT BT e G | T R B g

(T / 9)
WTO in an organ of UNO. (True/False)
foreg SR e YA T WG F TS I E |

(FT / 319 )
Balance of Payment is a part of Balance of Trade.

(True/False)
YTAM e SUR el &1 U 39 2 |

(aca / 3r49)
Online trading is not permitted in international
business. (True/False)
IR AGH H 3ielg AR &I AN el o
ol | GRVAKS)
Goods and Services Tax (GST) is not applicable in
international business. (True/False)
FRIC Fga H 9% U4 Hal 9) (GST) AN el
BT | (¥ / 37)
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9. Non-trade Issues have no impact on International

Trade. (True/False)
IRRIC AR R IRAURG Jel B By G419 T8l
BT | (A / 3rc)
10. Member countries have to maintain Current Account
with World Bank. (True/False)
faeq 4o & W Ao TGl B f9%g §F H A1 @i
e Aifard R | (6 / 3rerc)
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